

$$z = \frac{1}{x} e^{-\frac{y}{x}}$$

$$y' = \frac{y}{x} - e^{-\frac{y}{x}} - 1$$

$$zx = e^{-\frac{y}{x}}$$

①

$$\ln(zx) = -\frac{y}{x}$$

Blatt 2 A2(a)

$$y = -x \ln(zx)$$

$$y' = -\ln(zx) - \frac{z'x + z}{z}$$

$$= -\ln(zx) - \frac{z'}{z}x - 1$$

$$-\cancel{\ln(zx)} + \frac{z'}{z} \cancel{x} - 1 = -\cancel{\ln(zx)} + \cancel{z} \cancel{x} - 1$$

$$\cancel{z'x} = z' = z^2$$

$$\frac{dz}{dx} = z^2$$

$$\int z^{-2} dz = \int dx$$

$$\frac{-1}{z} = x + C$$

$$\Rightarrow z = \frac{-1}{x+C} = \frac{1}{x} e^{-\frac{y}{x}}$$

②

$$\ln\left(\frac{-x}{x+C}\right) = \frac{-y}{x}$$

$$\Leftrightarrow y = x \ln\left(\frac{x+C}{-x}\right)$$

$$y(1) = \ln\left(\frac{C+1}{-1}\right) = 0$$

$\underbrace{\hspace{2cm}}_{= -1}$

$$\Rightarrow C+1 = -1$$

$$\Rightarrow C = -2$$

$$\Rightarrow y(x) = x \ln\left(\frac{2-x}{x}\right)$$